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1) wdenefl TEUT U T U W U AT SierEa: o :

Candidate must write first his / her Roll No. on the question paper. :
I

2) @t uw st gl
All the questions are compulsory.
3) Tcdeh U9 h1 IW & 3 STR-YEaeht | & ferd|

Write the answer to each question in the given answer-book only.
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4) = ugdi 4 snaies @ug g, 37 vt & IW U | g o)

For questions having more than one part, the answers to those parts are to be
written together in continuity.

5) 99 I W 7@ | gg U 1 ShAT 31avd o
Write down the serial number of the question before attempting it.

6) TYH U h &l I ST TR0 H {ohHt TehR Al Jie / o / foriens e g w &=t W
* ¥ R & EE W

If there is any kind of error / difference / contradiction in the Hindi & English
versions of the question paper, the question of Hindi version should be treated
valid.
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Qus - A

SECTION - A

1) =A™ gt 4 3w fawea st v W G e Sw-yftre | fafRan [12x1=12]

Choose and write the correct option for the following questions in the given
answer-book :

) USUHR AT E -
1) falndem q)  HEAHE [HEERT
q) Tfasiter weA st fAmion 3) A T AR
Importance of management is -
A) Specialisation B) Functional differentiation

C) Creates a dynamic organisation D) Size of organisation

i) freRE -

) iferd q) HEIHTAR

W)  ACURITTE 3) drdwTicT

Planning is -

A) Continuous B) Middle-term

C) Short-term D) Long-term
iif)  frEeRteRTOT < wEe @ -

HA) @ q) dF

q) <R 3) U

Staffing aspects are -

A) Two B) Three
C) Four D) Five
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iv) Wl @t denties Ferm 1 g fomn T -
H) 1992 ) 2000
w) 1988 g) 1995
The SEBI was given a statutory status on -
A) 1992 B) 2000
C) 1988 D) 1995
V) TSRO UfsRAT ST T TROT @ -
) TS ATEATIARATY 9) @E
") @M 3) oA H HH
The first step of motivation process is -
A) Unsatisfied need B) Tension
C) Drives D) Reduction of tension
vi) foom s sa=? -
A) TH ) A
g) - g) W=R
The elements of marketing mix are -
A) One B) Two
C) Three D) Four
vii)  Shpfiern S w i ot 3
#) T 9)  FREd et
) R 3) T
The most popular in grapevine communication is -
A) Gossip B) Single strand
C) Cluster D) Probability
vii) TRt ST il ITE R —
) e I q)  SeR ferht srgu
W) I Fgu g) ie rgu™
An example of turnover ratio is -
A) Currentratio B) Debtors turnover ratio
C) Proprietary ratio D) Quick ratio
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iX) e w9 T e -

) R fafITe vsaTaet q) IS TR
|) U 7) fem
The semantic barriers of effective communication is -
A) Technical jargon B) Premature evaluation
C) Status D) Rules
X) Femumwaga? -
) EAq Sk

) A st
|) & wEaE gl
3) T TR
Importance of control is -
A) Continuous process
B) Plan oriented
C) Facilitating co-ordination in action
D) Dynamic activity
Xi) JUHIH & GUHIVT | ITHITH TREAUT H Tg 8 —

HA) WIS ISR q) THS & TEEAT 1 ST
W) Sl gEed g)  ITEISA SUHIH
Consumer protection is important from the consumer point of view -
A) Social responsibility B) Utilisation of resources of society
C) Government intervention D) Unorganised consumers
xii) Uererha e f snyfie aeie 8 -
) wiferdE e =) wwfreds frg Frverm
7) faft=mm w s 3) o FE=
Modern technique of managerial control is -
A) Statistical report B) Break-even point analysis
C) Return on Investment D) Budgetary control
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2) e Tl i gfd s e Iw-giren § fofem [6x1=6]

Fill in the blanks and write in the answer-book :

In selection process choosing the

i) U AR ... W | Sfel S Tt 2l

The capital market can be divided into parts.
iv) fem wdafEi e ... T 2l

Directing employees.

V)  SUHIh! A S framT (YR TReER) Susiehistl B SrrEwdt der e sk fere “ L. ’
TRER = @ 2

Department of consumer affairs, (GOI) has been undertaking
campaign, for generating awareness among consumers.

VD) e SR A I A W et g 2|

flow from top to bottom.
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atfel TR T
Very Short Answer Type Questions :

3) = vl & S Uk ufem @ i [12x1=12]
Answer the following questions in one line :
) Uy U ddeard R 21 A
"Management is all pervasive activity." How?
i) faveras uiefies qomeh @1 atel s@Tgy
Mention the meaning of differential piece wage system.
i) e | wfsRen w6 @ aved 22
What is the meaning of 'Procedure' in planning?
iv) cTueht T | UHRTE H6A GTen hal U ¢ ?
In your opinion, where the divisional organisation structure is suitable?
V) et % v ghy wer @ w Sk
Explain the 'Intelligence Test' in selection of employees.
vi) SAfSRUN Uk WA G SR i W Sl 8, U ITEAT S|
Motivation produces goal directed behaviour. Give an example.
vii) SefHeR STSIR 1 gE AW @ 2P
What is the other name of primary market?
viil) ShTateHeR HITeA gl < 31ed forRam)
Write the meaning of functional structure of organisation.
iX) SUMIHl ANTEehdt 1 312 ad1su)
Mention the meaning of consumer awareness.
X) 3MUh! T H, TS 1 Ueh Wgwd feaRau|
In your opinion, write an importance of organisation.
xi) @it & ek ‘Femwal wr falan)
Write a 'regulatory' function of SEBI.
xii) foro Emefs et i w R

How does advertisement undermines in social values?

SS—31-Bus. Studies 3022 [ Turn Over

Download from www.MsEducationTv.com



8
Qe -«
SECTION - B

TR T : T E. 4 ¥ 16 T Teh al 37k 1 ¢ [13%x2=26]

Short answer type questions. Question Nos. 4 to 16 are of two marks each.

4) 9t H R @ fevrwmad w8t T il [1+1=2]

Explain any two characteristics of profession.

5) ‘o Ugdt FeHE R 2]
What is the "Work method study'?

6) UkioRT & 3 Tl i felkam) [1+1=2]

Write two levels of packaging.

7) TS HE Wl EEY § GHEsu| [2]

Explain the 'National commission' in brief.

8) forita fufa & sria Faw wwaeht fota =it woe Fifu) [2]

Explain the investment decision under the financial decision.

9) srftrRR sFRuT A ferhegiiaot # i fargett & onem W e wE i) [1+1=2]
) Rl T) 8=
Explain the difference between delegation and decentralisation.
a) Status b) Scope
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10) U Uerereh & w9 U, Faeon ufshan < wem St =wun i wE fifkm) [1+1=2]
As a manager, explain the first two steps of controlling process.

11) YSiRTa Sq3it o SRifeRtuT =re gt hifTu| [2]
Classify the capital items by the chart.

12) situeniies Twiwor & = = 6t = grn yefvia St - [1+1=2]
) T ) Wen
Show the following networks of formal communication through a chart -
a) Wheel b) Circular

13) Suwim & e siferesrl st TR - [1+1=2]
HA) W TH T AHR
F) GAATE H ARER
Explain the following rights of consumer -
a) Right to be assured
b) Right to be heard

14) oot T | FHI H 1o s 2]
In your opinion, mention the meaning of efficiency.

15) wrEiviie goit it sravaehdl i guifad w ot e gewt St Twes - [1+1=2]
) =aIE™ sk
F) WEH FwRE
Explain the following factors to affecting requirement of working capital -
a) Business cycle
b) Seasonal factors

16) Suftrer fersha & St ool =t foTRam) [1+1=2]
Write two merits of personal selling.
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wus - 9

SECTION - C

T ", 17 & 20 Tk TAH i 37k H 2 [4%3=12]

Question Nos. 17 to 20 are of three marks each.

17) ueh foriia ysier & w0 # weafies vd fiediores aoR ® i 99 3R samsu| [3x1=3]

As a financial manager, mention any three differences between primary and
secondary market.

18) fergeitertor st ggT/=am< §A W YN 4TSy [3]

Mention the impact of money/interest rates of demonetisation.

19) ueh Yarereh & ®4 ° e ufskan & wem = =Rt it auzse| [3x1=3]

As a manager, explain first three steps of planning process.

20) 3MUH T H, SUTier e o SNl i Saisu| [3]

In your opinion, mention the disadvantages of formal organisation.
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wue - §
SECTION - D

T H. 21 A 23 Ak Tk IR 3k H B [3x4=12]

Question Nos. 21 to 23 are of four marks each.

21) veruhia fagal & & 4 ‘emew il twar g TEw it vwar’ ® 13 9t R T fif)
[2+2=4]
Clarify the two differences between 'Unity of command' and 'Unity of direction' as
the managerial principle.
3rat/OR
ey % gl o Hgw o fohvgl 9 fargat i T i) [4x1=4]
Explain any four points of importance of principle of management.
22) Uk YEEeh & ®U H, T 9 TATUA T Tl T Hifm) [2+2=4]
As a manager, clarify the 'selection' and 'placement agencies'.
et/ OR
e e % w0, sl @ e ge # e [2+2=4]
As a manager, explain the 'Recruitment' and casual callers.
23) ‘g ysi ud fonia FEH @ oved wweTsu) [2+2=4]
Explain the meaning of 'Fixed Capital' and Financial Management.
Jgar/OR
Gefl EEEET Rl AT A ST ST SATERUT U U SRR Wl SATRUT S{UTd SRl SuiA
i) [2+2=4]
Describe the 'Interest coverage ratio' and 'debt service coverage ratio' affecting the
capital structure.
VOOV
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